[Roll Number

Candidate
Name

Test Center
Name

Test Date 16/06/2022

Test Time 4:30 PM - 6:00 PM
Subject Level 2

* Note

Correct Answer will carry 1 mark per Question.
Incorrect Answer will carry 1/3 Negative mark.

1. Options shown in green color with a tick icon are correct.

2. Chosen option on the right of the question indicates the option selected by the candidate.

Section : NTPC

Q.1
Ans 1.
2.
3.
o 4.

Question ID :
Option 11D :
Option 2D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

115135435
1151351737
1151351739
1151351740
1151351738
Answered
4




Q.2

Ans 1.
2.
3.
o 4.
Question ID : 1151351734
Option 1 ID : 1151356933
Option 2 ID : 1151356935
Option 3 ID : 1151356936
Option 4 ID : 1151356934
Status : Marked For Review
Chosen Option : 2
Q.3
Ans o 1.
2.
3.
4.
Question ID : 1151351742
Option 1 ID : 1151356966
Option 2 ID : 1151356967
Option 3 ID : 1151356968
Option 4 ID : 1151356965
Status : Marked For Review
Chosen Option : 1
Q.4
Ans 1. C
2. B
3. A
W4 D

Question ID :
Option 11D :
Option 2D :
Option 3D :
Option 4 1D :
Status :

Chosen Option :

115135432
1151351727
1151351726
1151351725
1151351728
Answered
4




Q.5

Ans

1.
2.
o 3.
4.
Question ID : 1151351737
Option 1 ID : 1151356948
Option 2 ID : 1151356947
Option 3 ID : 1151356945
Option 4 ID : 1151356946
Status : Answered
Chosen Option : 3
Q.6 A person invested some amount at the rate of 12% per annum simple interest and another amount at the rate of 10%
per annum simple interest. He received vearly interest of 2125 from both the investments. But if he had
interchanged the amounts invested, he would have received 3 more as interest. How much did he invest at 10% per
annum simple interest originally?
Ans o 1
2.
3.
4.
Question ID : 1151351480
Option 1 ID : 1151355917
Option 2 ID : 1151355919
Option 3 ID : 1151355920
Option 4 ID : 1151355918
Status : Not Answered
Chosen Option : --
Q.7
Ans 1.
2.
3.
4.
Question ID : 1151351716
Option 1 ID : 1151356862
Option 2 ID : 1151356863
Option 3 ID : 1151356864
Option 4 ID : 1151356861
Status : Answered
Chosen Option : 1




Q.8

Ans

Option 2 ID

Option 4 ID

Chosen Option

Question ID :
Option 11D :

Option 3D :

Status :

1151351726
1151356902

: 1151356903
1151356901

: 1151356904
Marked For Review
14

Q.9

Ans

vl

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

Chosen Option :

: 1151351468
: 1151355869
: 1151355871
: 1151355870
: 1151355872
: Answered
1

Q.10

Ans

Option 2 ID

Option 4 ID
Status :
Chosen Option :

Question ID :
Option 11D :

1151351746
1151356982

: 1151356983
Option 3D :

1151356984

1 1151356981

Answered
3




Q1

Ans

¥3 =5
4 —11

Question ID

Option 11D :

Option 2 ID

Option 3D :

Option 4 ID

Status :
Chosen Option :

: 1151351462
1151355846
: 1151355845
1151355847
: 1151355848
Answered

3

Q.12

Ans

o 1.

Question ID
Option 11D
Option 2 ID
Option 3 ID
Option 4 ID

Status

Chosen Option :

: 1151351743
: 1151356972
: 1151356970
: 1151356971
: 1151356969
: Answered
1

Q.13

Ans

& 2.

Question ID
Option 1 ID

Option 21D :

Option 3 ID

Option 4 ID :

Status
Chosen Option

: 115135423
: 1151351689
1151351691
: 1151351690
1151351692
: Answered
12




Q.14

Ans 1.
o 2.
3.
4.
Question ID : 1151351754
Option 1 ID : 1151357014
Option 2 ID : 1151357013
Option 3 ID : 1151357016
Option 4 ID : 1151357015
Status : Answered
Chosen Option : 2
Q.15
Ans 1.
2.
3.
o 4.
Question ID : 1151351470
Option 1 ID : 1151355880
Option 2 ID : 1151355879
Option 3 ID : 1151355877
Option 4 ID : 1151355878
Status : Answered
Chosen Option : 4
Q16 1f the mean of 14, 6, 2a and 16 is 12, then find the value of a where a > 0.
Ans 1. 8
2 6
3.5
4.4
Question ID : 1151351490
Option 1 ID : 1151355960
Option 2 ID : 1151355959
Option 3 ID : 1151355957

Option 4 ID : 1151355958
Status : Answered
Chosen Option : 2




Q.17

Ans 1.
2.
3.
o 4.
Question ID : 115135434
Option 1 ID : 1151351733
Option 2 ID : 1151351734
Option 3 ID : 1151351736
Option 4 ID : 1151351735
Status : Answered
Chosen Option : 4
Q.18
Ans 1.
2.
3.
4.
Question ID : 1151351735
Option 1 ID : 1151356938
Option 2 ID : 1151356937
Option 3 ID : 1151356939
Option 4 ID : 1151356940
Status : Marked For Review
Chosen Option : 1
Q.19
Ans J 1.
2.
3.
4.

Question ID :

Option 11D :
Option 2 ID :
Option 3D :
Option 4 ID :

Status :

1151351739
1151356953
1151356956
1151356955
1151356954
Marked For Review

Chosen Option : 4




Q.20

Ans 1.

2 H
3 E
4 B

Question ID

Option 2 ID

Option 4 ID

Option 11D :
Option 3D :

Status :
Chosen Option :

: 115135440
1151351759
: 1151351760
1151351758
: 1151351757
Answered
3

Q.21

Ans 1.

o 3

Option 1 ID
Option 3 ID

Status
Chosen Option

Question ID :

115135416

: 1151351663
Option 21D :

1151351662

: 1151351664
Option 4 ID :

1151351661

: Answered
03

Q.22

Ans 1.

o 2.

4

Question ID
Option 11D :
Option 2 ID
Option 31D :
Option 4 ID
Status :

Chosen Option :

: 1151351478

1151355911

: 1151355912

1151355910

- 1151355909

Answered
2




Q.23

Ans 1.
o 2.
3.
4.

Question ID : 1151351491

Option 1 ID : 1151355964

Option 2 ID : 1151355963

Option 3 ID : 1151355962

Option 4 ID : 1151355961

Status : Answered
Chosen Option : 2
Q.24

Ans 1.

o 3.
4.
Question ID : 115135442
Option 1 ID : 1151351768
Option 2 ID : 1151351765
Option 3 ID : 1151351766
Option 4 ID : 1151351767
Status : Answered
Chosen Option : 3
Q.25
Ans 1.
o 2.
3.
4.

Question ID : 1151351481
Option 1 ID : 1151355922
Option 2 ID : 1151355921
Option 3 ID : 1151355923
Option 4 ID : 1151355924
Status : Answered
Chosen Option : 2




Q.26

Ans
1.
o 2.
3.
4.
Question ID : 1151351494
Option 1 ID : 1151355974
Option 2 ID : 1151355975
Option 3 ID : 1151355973
Option 4 ID : 1151355976
Status : Answered
Chosen Option : 2
Q.27
Ans 1.
o 2.
3.
4.
Question ID : 115135444
Option 1 ID : 1151351776
Option 2 ID : 1151351775
Option 3 ID : 1151351773
Option 4 ID : 1151351774
Status : Answered
Chosen Option : 2
Q.28
Ans 1.
o 2.
3.
4.
Question ID : 1151351709
Option 1 ID : 1151356836
Option 2 ID : 1151356833
Option 3 ID : 1151356835
Option 4 ID : 1151356834
Status : Not Answered

Chosen Option :




Q.29
Ans

2.

Question ID

Option 2 ID

Option 4 ID

Option 11D :

Option 31D :

Status :
Chosen Option :

: 1151351712
1151356846

: 1151356845
1151356847

: 1151356848
Marked For Review
2

Q.30

Ans

o 2.

LS I T R R |

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

Chosen Option :

: 1151351473
: 1151355890
: 1151355891
: 1151355889
: 1151355892
: Answered
2

Q.31

Ans

& 3.

Option 4 ID
Status :
Chosen Option :

Question ID :
Option 11D :
Option 2 ID :
Option 31D :

1151351719
1151356873
1151356874
1151356876

: 1151356875

Marked For Review
3




Q.32

Ans

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

115135424
1151351693
1151351696
1151351694
1151351695
Answered
4

Q.33

Ans

Question ID

Chosen Option :

: 1151351741
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

1151356961
1151356962
1151356963
1151356964
Answered
3

Q.34

Ans

Question ID
Option 11D :
Option 2 ID
Option 3 ID
Option 4 ID
Status :

Chosen Option :

- 1151351464

1151355854

- 1151355853
: 1151355856
: 1151355855

Answered
3




Q.35

Ans

Question ID :

Option 1 ID

Option 2D :

Option 3 ID

Option 4 ID :
Status :
Chosen Option :

1151351744
: 1151356973
1151356976
: 1151356975
1151356974
Answered

2

Q.36

Ans

Question ID :
Option 11D :
Option 21D :
Option 3D :
Option 4 1D :
Status :

Chosen Option :

115135426
1151351702
1151351701
1151351703
1151351704
Answered
3

Q.37

Ans

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151351755
1151357019
1151357020
1151357018
1151357017
Answered

2




Q.38 Two students appeared for an entrance examination. One of them secured 15 marks more than the other and his
marks are 80% of the sum of their marks. What are the marks obtained by each of them?

Ans 1.
2.
3.
o 4.
Question ID : 1151351479
Option 1 ID : 1151355916
Option 2 ID : 1151355915
Option 3 ID : 1151355914
Option 4 ID : 1151355913
Status : Answered
Chosen Option : 4
Q.39
Ans 1.
o 2.
3.
4.
Question ID : 1151351718
Option 1 ID : 1151356870
Option 2 ID : 1151356872
Option 3 ID : 1151356871
Option 4 ID : 1151356869
Status : Answered
Chosen Option : 2
Q.40
Ans 1. 7
2.5
W3 6
4. 8

Question ID : 115135417
Option 1 ID : 1151351667
Option 2 ID : 1151351665
Option 3 ID : 1151351666
Option 4 ID : 1151351668
Status : Answered
Chosen Option : 3




Q.41

Ans 1.
o 2.
3.
4.
Question ID : 1151351747
Option 1 ID : 1151356985
Option 2 ID : 1151356987
Option 3 ID : 1151356988
Option 4 ID : 1151356986
Status : Answered
Chosen Option : 2
Q.42
Ans 1.
2.
3.
4.
Question ID : 115135411
Option 1 ID : 1151351642
Option 2 ID : 1151351641
Option 3 ID : 1151351643
Option 4 ID : 1151351644
Status : Answered
Chosen Option : 1
Q.43
Ans o 1.
2.
3.
4.
Question ID : 1151351715
Option 1 ID : 1151356857
Option 2 ID : 1151356860
Option 3 ID : 1151356858
Option 4 ID : 1151356859
Status : Answered

Chosen Option :

1




Q.44

Ans 1
2.
3.
4.
Question ID : 1151351467
Option 1 ID : 1151355868
Option 2 ID : 1151355865
Option 3 ID : 1151355866
Option 4 ID : 1151355867
Status : Answered
Chosen Option : 1
Q.45
Ans 1.
2.
3.
o 4.
Question ID : 1151351753
Option 1 ID : 1151357009
Option 2 ID : 1151357011
Option 3 ID : 1151357010
Option 4 ID : 1151357012
Status : Marked For Review
Chosen Option : 1
Q.46
Ans o 1
2.
3.
4.

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

: 1151351738
- 1151356950
: 1151356951
- 1151356949
: 1151356952

Status : Answered
Chosen Option : 1




Q.47

Ans 1.
2.
3.
4.
Question ID : 115135428
Option 1 ID : 1151351709
Option 2 ID : 1151351711
Option 3 ID : 1151351710
Option 4 ID : 1151351712
Status : Answered
Chosen Option : 1
Q.48
Ans 1.
o 2.
3.
4.

Status

Question ID :
Option 11D :
Option 2D :
Option 31D :
Option 4 ID :

1151351730
1151356917
1151356918
1151356919
1151356920

: Marked For Review
Chosen Option :

1

Q49 The positive value of

1 1 1

1+4/2 23 V2443 3 V3+/a g

Ans #1 3
2. 4
3.1
4. 2

1 :
T |
T

Status

Question ID :
Option 11D :
Option 21D :
Option 3D :
Option 4 ID :

Chosen Option :

1151351483
1151355931
1151355932
1151355929
1151355930

: Answered

1




Q.50

Ans

Question ID :
Option 11D :
Option 2D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151351482
1151355926
1151355928
1151355925
1151355927
Answered
4

Q.51

Ans

Question ID :
Option 11D :
Option 2D :
Option 3D :
Option 4 1D :
Status :

Chosen Option :

1151351487
1151355947
1151355945
1151355946
1151355948
Answered
4

Q.52

Ans

vl

Question ID
Option 11D :
Option 2 ID
Option 3D :
Option 4 ID :
Status :

Chosen Option :

- 1151351751

1151357003

: 1151357002

1151357001
1151357004
Marked For Review
3




Q.53

Ans o 1
2.
3.
4,
Question ID : 115135414
Option 1 ID : 1151351655
Option 2 ID : 1151351656
Option 3 ID : 1151351654
Option 4 ID : 1151351653
Status : Answered
Chosen Option : 1
Q.54
Ans 1.
o 2.
3. 41
4.
Question ID : 1151351489
Option 1 ID : 1151355956
Option 2 ID : 1151355953
Option 3 ID : 1151355954
Option 4 ID : 1151355955
Status : Answered
Chosen Option : 2
Q.55
Ans 1.
2.
o 3.
4,
Question ID : 1151351714
Option 1 ID : 1151356854
Option 2 ID : 1151356853

Option 3 ID : 1151356855
Option 4 ID : 1151356856
Status : Answered

Chosen Option :

03




Q.56

Ans 1.
o 2.
3.
4.
Question ID : 115135420
Option 1 ID : 1151351677
Option 2 ID : 1151351678
Option 3 ID : 1151351680
Option 4 ID : 1151351679
Status : Answered
Chosen Option : 2
Q.57
Ans 1. 3
W2 4
3. 6
4. 2
Question ID : 1151351465
Option 1 ID : 1151355859
Option 2 ID : 1151355858
Option 3 ID : 1151355857
Option 4 ID : 1151355860
Status : Answered
Chosen Option : 2
Q.58
Ans 1.
o 2.
3.
4,

Question ID : 1151351724
Option 1 ID : 1151356896
Option 2 ID : 1151356894
Option 3 ID : 1151356895
Option 4 ID : 1151356893
Status : Marked For Review
Chosen Option : 4




Q.59

Ans .z 1.
2.
3.
4.
Question ID : 1151351713
Option 1 ID : 1151356850
Option 2 ID : 1151356849
Option 3 ID : 1151356851
Option 4 ID : 1151356852
Status : Marked For Review
Chosen Option : 1
Q.60
Ans 1.
2.
o 3.
4.
Question ID : 1151351733
Option 1 ID : 1151356932
Option 2 ID : 1151356931
Option 3 ID : 1151356930
Option 4 ID : 1151356929
Status : Answered
Chosen Option : 2
Q.61
Ans 1.
2.
3.
4.

Question ID : 115135429
Option 1 ID : 1151351716
Option 2 ID : 1151351714
Option 3 ID : 1151351715
Option 4 ID : 1151351713
Status : Answered
Chosen Option : 1




Q.62

Ans 1.

Question ID

Option 11D :

Option 2 ID

Option 3D :

Option 4 ID

Status :
12

Chosen Option

: 1151351732
1151356927
: 1151356926
1151356928
: 1151356925
Marked For Review

Q.63

Ans 1.

Question ID :

Option 1 ID

Option 3 ID

Status

1151351706

: 1151356822
Option 2D :

1151356824

: 1151356821
Option 4 ID :

1151356823

. Answered
Chosen Option :

3

Q.64

Ans

« 1. 390 km

2. 400 km

3. 410 km

4. 380 km

Question ID :
Option 1 ID
Option 21D :
Option 3 ID
Option 4 ID :
Status

Chosen Option :

1151351474

- 1151355896

1151355894

: 1151355893

1151355895

: Answered

1




Q.65

Ans 1.
2. 32
o 3.
4. 24
Question ID : 1151351463
Option 1 ID : 1151355852
Option 2 ID : 1151355850
Option 3 ID : 1151355851
Option 4 ID : 1151355849
Status : Answered
Chosen Option : 3
Q.66 175000 is invested for a period of three years at 20% compound interest per annum, compounded
annually, what will be the amount received after 3 years?
Ans o 1.
2.
3.
4.
Question ID : 1151351466
Option 11D : 1151355863
Option 2 ID : 1151355861
Option 3 ID : 1151355862
Option 4 ID : 1151355864
Status : Answered
Chosen Option : 1
Q.67
Ans 1. 2
2. 4
3. 3
4.1
Question ID : 115135412
Option 11D : 1151351646
Option 2 ID : 1151351648
Option 3 ID : 1151351647
Option 4 ID : 1151351645
Status : Answered

Chosen Option :

1




Q.68

Ans

The radius of a cylinder is ]6; % more than the radius of a hemisphere. The height of the

cylinder is 21 cm. Find the volume of the hemisphere if the volume of the cylinder is equal to

the volume of another sphere having radius 7 cm. (Calculate to two decimal places; use n = ?)

1.136.09 cm?
5 132.08 cm?

& 3.
4.133.04 cm?

Question ID :
Option 11D :
Option 21D :
Option 3D :
Option 4 ID :

Status :

Chosen Option :

1151351485
1151355940
1151355937
1151355939
1151355938

Not Attempted and
Marked For Review

Q.69

Ans

1. 36V3

2. 30v3
3. 3642

4 2443

Question ID :
Option 11D :
Option 21D :
Option 3D :
Option 4 ID :
Status :

Chosen Option :

1151351472
1151355886
1151355885
1151355887
1151355888
Answered
4

Q.70

Ans

Question ID :
Option 11D :
Option 21D :
Option 3D :
Option 4 ID :
Status :

Chosen Option :

115135421
1151351683
1151351684
1151351682
1151351681
Not Answered




Q.71

Ans 1.

Question ID :
Option 11D :
Option 2D :

Option 3 ID

Option 4 ID :
Status :
Chosen Option :

1151351477
1151355907
1151355906
: 1151355908
1151355905
Answered
4

Q.72

Ans 1.

Question ID :
Option 11D :
Option 21D :
Option 3D :
Option 4 ID :
Status :

Chosen Option :

115135413
1151351652
1151351650
1151351651
1151351649
Answered

3

Q.73
Ans 1.

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :

Status :

1151351486
1151355942
1151355941
1151355944
1151355943
Answered

Chosen Option : 1




Q.74

Ans

Question ID
Option 1 ID

Option 2D :

Option 3 ID

Status :
Chosen Option :

: 1151351752
: 1151357008
1151357006

: 1151357007
Option 4 ID :

1151357005
Marked For Review
4

Q.75

Ans

Question ID :

Option 1 ID

Option 2 ID :

Option 3 ID

Option 4 ID :
Status :
Chosen Option :

1151351476
: 1151355903
1151355901
: 1151355902
1151355904
Answered

3

Q.76

Ans

& 2.

Question ID :
Option 1 ID
Option 21D :
Option 3 ID
Option 4 ID :
Status

Chosen Option :

115135433

: 1151351731

1151351732

: 1151351730

1151351729

. Answered

2




Q.77

Ans 1.
o 2.
3.
4.
Question ID : 115135436
Option 1 ID : 1151351742
Option 2 ID : 1151351743
Option 3 ID : 1151351741
Option 4 ID : 1151351744
Status : Answered
Chosen Option : 2
Q.78
Ans 1.
2.
3.
o 4.
Question ID : 1151351484
Option 1 ID : 1151355933
Option 2 ID : 1151355934
Option 3 ID : 1151355936
Option 4 ID : 1151355935
Status : Answered
Chosen Option : 4
Q.79
Ans #1. 0
2.7
3. 11
4. 10
Question ID : 115135438
Option 1 ID : 1151351751
Option 2 ID : 1151351750
Option 3 ID : 1151351749
Option 4 ID : 1151351752
Status : Answered

Chosen Option :

1




Q.80

Ans

Question ID

Option 2 ID

Option 4 ID

: 1151351740
Option 11D :

1151356959

: 1151356957
Option 31D :

1151356958

: 1151356960
Status :
Chosen Option :

Marked For Review
2

Q.81 12 skilled, 14 semi-killed and 10 unskilled workers complete a job for T13189. If their individual wages be in the

ratio of 9:5:4, then the total money (in ) earned by 10 unskilled workers is:

Ans 1.
2.
o 3.
4.
Question ID : 1151351493
Option 1 ID : 1151355972
Option 2 ID : 1151355971
Option 3 ID : 1151355969
Option 4 ID : 1151355970
Status : Answered
Chosen Option : 3
Q.82
Ans 1. 15
W2 11
3. 10
4. 12
Question ID : 1151351710
Option 1 ID : 1151356840
Option 2 ID : 1151356838
Option 3 ID : 1151356837
Option 4 ID : 1151356839
Status : Marked For Review

Chosen Option : 4




Q.83

Ans 1.

Question ID :

Option 1 ID

Option 21D :

Option 3 ID

Option 4 ID :

Status

Chosen Option :

1151351725
: 1151356898
1151356899
: 1151356900
1151356897
: Answered
4

Q.84
Ans 1.

Question ID :
Option 11D :
Option 2D :
Option 3D :
Option 4 1D :
Status :

Chosen Option :

1151351750
1151356999
1151356997
1151357000
1151356998
Answered
3

Q.85
Ans 1.

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :

Status :

1151351722
1151356888
1151356886
1151356885
1151356887

Marked For Review
Chosen Option : 3




Q.86

Ans s 1. (C
2.5k
.Y
4. A
Question ID : 115135431
Option 1 ID : 1151351724
Option 2 ID : 1151351722
Option 3 ID : 1151351721
Option 4 ID : 1151351723
Status : Answered
Chosen Option : 1
Q.87
Ans 1.
2.
3.
4.
Question ID : 115135437
Option 1 ID : 1151351747
Option 2 ID : 1151351745
Option 3 ID : 1151351746
Option 4 ID : 1151351748
Status : Answered
Chosen Option : 1
Q.88
Ans 1.
o 2.
3.
4.

Question ID :
Option 11D :
Option 21D :
Option 3D :
Option 4 ID :
Status :

Chosen Option :

115135418
1151351670
1151351671
1151351672
1151351669
Answered
2




Q.89

Ans 1.

2

Question ID : 115135439
Option 1 ID : 1151351753
Option 2 ID : 1151351754
Option 3 ID : 1151351755
Option 4 ID : 1151351756
Status : Answered
Chosen Option : 2

Q.90 Radhika can complete a work in 15 days and Rishi can complete the same work in 30 days. Radhika started the
work alone and left after 2 days of work. Then Rishi continued the work. Find the time taken by Rishi to complete
the remaining work.

Ans J 1.
2.
3.
4.

Question ID : 1151351488

Option 1 ID : 1151355952

Option 2 ID : 1151355950

Option 3 ID : 1151355951

Option 4 ID : 1151355949

Status : Answered
Chosen Option : 1
Q.91

Ans 1.
o 2.
3.
4.

Question ID : 1151351728
Option 1 ID : 1151356910
Option 2 ID : 1151356911
Option 3 ID : 1151356909
Option 4 ID : 1151356912
Status : Answered
Chosen Option : 2




Q.92

Ans

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

1151351707
1151356828
1151356827
1151356825
1151356826
Marked For Review
3

Q.93

Ans

Question ID

Option 11D :
Option 2 ID :

Option 31D :
Option 4 ID :
Status :

Chosen Option :

: 115135430
1151351720
1151351718
1151351719
1151351717
Answered

3

Q.94

Ans

& 3.

Question ID :
Option 1 ID
Option 2D :
Option 3D :
Option 4 1D :
Status :

Chosen Option :

1151351711

: 1151356844

1151356842
1151356841
1151356843
Marked For Review
2




Q.95

Ans s 1 §
2.9
3.7
4. 10
Question ID : 1151351492
Option 1 ID : 1151355968
Option 2 ID : 1151355965
Option 3 ID : 1151355967
Option 4 ID : 1151355966
Status : Answered
Chosen Option : 1
Q.96 Pipes A and B can fill an empty tank completely in 42 minutes and 56 minutes respectively. Pipe C alone can
empty the full tank in 84 minutes. All the three pipes are opened together for 8 minutes and then C 1s closed. In how
much time (in minutes) will A and B together fill the remaining part of the tank?
Ans
o 1.
2. 16
3.
4. 18
Question ID : 1151351475
Option 1 ID : 1151355900
Option 2 ID : 1151355897
Option 3 ID : 1151355899
Option 4 ID : 1151355898
Status : Answered
Chosen Option : 1
Q.97
Ans o 1.
2.
3.
4.
Question ID : 1151351748
Option 1 ID : 1151356990
Option 2 ID : 1151356992
Option 3 ID : 1151356989
Option 4 ID : 1151356991
Status : Answered
Chosen Option : 1




Q.98

Ans 1.
o 2.
3.
4.
Question ID : 1151351727
Option 1 ID : 1151356908
Option 2 ID : 1151356905
Option 3 ID : 1151356906
Option 4 ID : 1151356907
Status : Answered
Chosen Option : 2
Q.99
Ans 1. #
2.1
.Y
o 4.
Question ID : 115135415
Option 1 ID : 1151351658
Option 2 ID : 1151351657
Option 3 ID : 1151351660
Option 4 ID : 1151351659
Status : Answered
Chosen Option : 4
Q.100
Ans o 1.
2.
3.
4.

Question ID : 1151351723
Option 1 ID : 1151356892
Option 2 ID : 1151356890
Option 3 ID : 1151356889
Option 4 ID : 1151356891
Status : Marked For Review
Chosen Option : 2




Q.101

Ans

Question ID

Option 11D :
Option 21D :
Option 3 ID :
Option 4 ID :

Status :

Chosen Option

: 1151351461
1151355841
1151355844
1151355843
1151355842
Answered
03

Q.102

Ans

o 4.

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

: 115135419

: 1151351673
: 1151351674
: 1151351676
- 1151351675

Status : Marked For Review
Chosen Option : 4

Q.103

Ans

Question ID
Option 11D :
Option 2 ID
Option 3D :
Option 4 ID
Status :

Chosen Option :

: 1151351708

1151356831

: 1151356832

1151356829

1 1151356830

Marked For Review
3




Q.104

Ans 1.
2.
3.
o 4.
Question ID : 1151351720
Option 1 ID : 1151356878
Option 2 ID : 1151356879
Option 3 ID : 1151356877
Option 4 ID : 1151356880
Status : Marked For Review
Chosen Option : 3
Q.105
Ans 1 B
2 F
3.4
4. A
Question ID : 115135443
Option 1 ID : 1151351771
Option 2 ID : 1151351770
Option 3 ID : 1151351769
Option 4 ID : 1151351772
Status : Not Answered
Chosen Option : --
Q.106
Ans 1.
2.
3.
o 4.

Question ID : 1151351729
Option 1 ID : 1151356916
Option 2 ID : 1151356914
Option 3 ID : 1151356915
Option 4 ID : 1151356913
Status : Marked For Review
Chosen Option : 4




Q.107

Ans 1.

Question ID :

Option 1 ID

Option 2D :

Option 3 ID

Option 4 ID :
Status :
14

Chosen Option

115135441
: 1151351761
1151351763
: 1151351764
1151351762
Answered

Q.108

Ans 1.

Question ID
Option 11D :
Option 2 ID
Option 3 ID
Option 4 ID :
Status :

Chosen Option :

: 115135422

1151351687

- 1151351686
: 1151351685

1151351688
Answered
3




Q.109

Ans
1.
o 2.
3.
4.
Question ID : 1151351471
Option 1 ID : 1151355882
Option 2 ID : 1151355884
Option 3 ID : 1151355883
Option 4 ID : 1151355881
Status : Answered
Chosen Option : 2
Q.110
Ans s 1 K
2.7
3. N
4. L
Question ID : 115135425
Option 1 ID : 1151351698
Option 2 ID : 1151351697
Option 3 ID : 1151351700
Option 4 ID : 1151351699
Status : Answered
Chosen Option : 1
Q.11
Ans 1.
2.
3.
o 4.

Question ID : 1151351721
Option 1 ID : 1151356883
Option 2 ID : 1151356884
Option 3 ID : 1151356881
Option 4 ID : 1151356882
Status : Answered
Chosen Option : 2




Q.112

Ans 1.
o 2.
3.
4.
Question ID : 1151351495
Option 1 ID : 1151355978
Option 2 ID : 1151355979
Option 3 ID : 1151355977
Option 4 ID : 1151355980
Status : Answered
Chosen Option : 2
Q.113
Ans 1.
2.
3.
o 4.
Question ID : 1151351745
Option 1 ID : 1151356980
Option 2 ID : 1151356979
Option 3 ID : 1151356978
Option 4 ID : 1151356977
Status : Marked For Review
Chosen Option : 3
Q.114
Ans 1.
o 2.
3.
4.

Question ID :
Option 11D :

Option 2 ID

Option 4 ID :
Status :
Chosen Option :

1151351736
1151356941

: 1151356944
Option 31D :

1151356942
1151356943
Answered

1




Q.115 Martin starts walking from his house in east direction. He walks 10m takes a left and walks 12m. Next he takes
a right turn and walks 3m. Then he turns left and walks lm. He again turns left and walks 5m. Towards which
direction is he moving now? (All turns are 90° turns only)

Ans

1. East
2. North
« 3. West
4. South
Question ID : 115135427
Option 1 ID : 1151351707
Option 2 ID : 1151351708
Option 3 ID : 1151351705
Option 4 ID : 1151351706
Status : Answered
Chosen Option : 3
Q.116
Ans 1.
o 2.
3.
4,
Question ID : 1151351717
Option 1 ID : 1151356867
Option 2 ID : 1151356865
Option 3 ID : 1151356868
Option 4 ID : 1151356866
Status : Answered
Chosen Option : 2
Q.117
Ans 1.
2.
3.
o 4.

Question ID : 1151351731
Option 1 ID : 1151356923
Option 2 ID : 1151356924
Option 3 ID : 1151356921
Option 4 ID : 1151356922
Status : Answered
Chosen Option : 4




Q.118
Ans

Question ID

Option 11D :

Option 2 ID
Option 3 ID
Option 4 ID

Status

Chosen Option :

: 1151351749
1151356995

: 1151356996

: 1151356994

: 1151356993

: Marked For Review
2

Q.119

Ans

Question ID

Option 11D :

Option 2 ID

Option 3D :

Option 4 ID

Status :
12

Chosen Option

: 1151351469
1151355875
: 1151355876
1151355874
: 1151355873
Answered

Q.120

Ans

Question ID
Option 11D :
Option 2 ID
Option 31D :
Option 4 ID
Status :

Chosen Option :

: 115135445

1151351777

: 1151351779

1151351780

: 1151351778

Answered
4




	1. 9 May 10AM Level 6 EN
	2. 9 May 3PM Level 6 EN
	3. 12 Jun 9AM Level 5 EN
	4. 12 Jun 12PM Level 5 EN
	5. 15 Jun 9AM Level 5 EN
	6. 15 Jun 12PM Level 5 EN
	7. 15 Jun 4PM Level 5 EN
	8. 10 May 10AM Level 4 EN
	9. 14 Jun 9AM Level 3 EN
	10. 13 Jun 12PM Level 2 EN
	11. 17 Jun 9AM Level 3 EN
	12. 17 Jun 12PM Level 3 EN
	13. 17 Jun 4PM Level 3 EN
	14. 13 Jun 9AM Level 2 EN
	15. 14 Jun 12PM Level 3 EN
	16. 16 Jun 9AM Level 2 EN
	17. 16 Jun 12PM Level 2 EN
	18. 16 Jun 4PM Level 2 EN
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